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2009
INDIAN SOCIAL STRUCTURE

Time Allotted : 3 Hours Full Marks : 70

The figures in the margin indicate_full marks.

Candidates are required to give their answers in their own words
as far as practicable.

GROUP - A
( Multiple Choice Type Questions )

1. Choose the correct alternatives for any ten of the

following : 10x1 =10
i) Population density is defined as the number of persons
a) per sq. km b) per sq. m
c) perm d) per km.

ii) The National Rural Employment Programme was started

in
a) 1980 b) 1965
c) 1983 d) 1984.

iii) The Chipko Movement was launched by
a) Sundarlal Bahuguna b) Medha Patkar

c) Maneka Gandhi d) Anna Hazare.
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iv) Directive Principles of State Policy a

.................... of the Constitution. -
a) Article 46 b) Article 23
c) Article 24 d) Article 17.
V) is defined as the struggle between the

ruling and the non-ruling classes.

a) Terrorism b) Insurgency

c) Crime d) Juvenile Delinquency.

vi) The main basis for caste inequality is
a) cultural diversity
b) ethnic and racial differences
c) occupational heterogeneity
d) the principle of pollution and purity.
vii) ITDP means
a) Indian Tribal Development Projects
b) Integrated Tribal Development Projects
c) International Tribal Development Projects

d) none of these.

viii) The ..........coeeinile movement provided another avenue of

social mobility for the untouchable castes.
a) Christianity b) Sufi

c) Bhakti d) Hinduism.
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ix) Which of the following does not influe
variability ?

a) Adaptability

b) Inventions and discoveries

IS

c) Role of individual

d) Heredity.
x) Tribe stands for a/an

a) social group b) community

c) exogenous group d) association.
xi) Endogamy means

a) intra-caste marriage

b) inter-caste marriage

c) inter-sub-caste marriage

d) none of these.

xii) The Jajmani system is a characteristic of the

.................... society.

a) Tribal b) Industrial

c) Agrarian d) None of these.
GROUP - B

( Short Answer Type Questions )
Answer any three of the following. 3xb5=15

2. How do you define occupational diseases ?

3. Enumerate the concept of Black Money in India.

4. Write down in brief International neighbours of India.
5.  State the illiteracy problems in India.

6. Highlight the unemployment situation in India.
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GROUP - C v
( Long Answer Type Questions ) -

Answer any three of the following. S 3% 1-5- ='45

What is industrialism ? State the impact of industrialism on
various aspects of society like the family, the economy and

quality of life. 6+9

What is child labour ? State the causes of child labour.
Mention some of the measures that have been taken to

remove child labour in India. 5+5+5

Define Kinship system. Highlight the nature and importance

of it in the context of developing countries like India. 5 + 10

Define NGO. Explain the objectives and role of NGOs in

socio-economic development with examples. 3+6+6

What do you understand by “Demographic Profile of Indian
Society” ? Distinguish among Tribal Society, Agrarian Society

and Industrial Society in the Indian context. 6+9
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